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1. RHRERAZRFEOHBE

RBERAEFIEL, LNGELPGOR ATt (B S#fEHE) DEBITHL T,
BA. REHSEMOmMbY DM #HBSIHETT,

- BAET I RRHE (83,350, . ) &M RAHEE (3~54 AFTD34 ARDLNGELPGOE Affitg) DZZE100M 12DF,
1m&7-Y 0.081H (Fik) AELET,

2. FHMLEARERAZE GIM/B) DSREDH AHE (202245 A%t 5)

(M FHREAEROETE
<LNGF % A fifidk > <LPGTF 8 Afifit >
87,420 (F/*.) X 09576 + 90,100 (A/*.) X 0.0466 = 87,912.052 (F/".)
= 87910 (A/".) XIOMREEEEEA

(2) TR AHT K S22 T 15 [RRHTEAER £ 0 258 (RAHEHE EENEE) DFEE

<EHRPHERE > < EHEF R FMEAE >
87,910 (/%) - 83,350 (F4/*.) = 4,560 (H/*.)
= 4,500 (H/*.) X100 KR FHEYIET

() REMEHMAREDEE

< RIS B EE > <HBRE>
4,500 (A/*.) X 0.081 (H/m) + 100 (H/*.) X (1 + o010) = 4.0095 (/m)
= 400 (M/m) NN R EIRMLUTEYET

(4) it ERE R (D) OFE (— ARG HERBDBE)

<EHEHAHE> <fEEH S mifzEEE>
169.03 (F/m) + 4 (A/m) = 173.03 (A/m)

(B &) 202F4A B OREHNSHEMEDLEE
<2025 A DREEX S HH> <2024 A DREEFH S HE>
173.03 (A/m) - 170.01 (F/m) = +3.02 (H/m)

(5) 77 A& (202245 A #dt57, HiiA)

<EXpE> <fERP L B> <AREAE>
1,588.88 (M/A) + 17303 (A/m) x 31(m/8) = 6,952.81 (M/8)
= 6,952 (M/A8) XIARBEYIET

ok



